B ==
l% SEE murtolukujen kertolasku (sekamurtoluku)

Nimi: Paivimaara: Pisteet:
3 6 5 1
— X — = — X — =
4 7 7 3
1 2 1 5
23537 13%6 7~
1 6 2 6
D— X — = — X — =
3 8 8 9
5 5 2 5
— X — = l_x_:
8 O 3 9
6X11_ 1X21_
9 6 2773
3 1 1 4
13787 13457
1 3 2 1
g 137 3°%3 7
1 1 3 5
— X — = — X — =
3 4 7 8
6 3 3 1
— X — = — X — =
9 5 4 4
4 5 3.3
— X — = — X — =
8 8 9 5
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murtolukujen kertolasku (sekamurtoluku)

Nimi:
3 6 9
— X - =
477 14
2 7
378 12
L 6 _7_,3
3 8 4 4
5 5 25
_ X — =
8 9 72
6 1 7
_xl_:_
9 6 9
3 1 7
2% == —
4 8 32
1 3 7
_xl_:_
8 4 32
I 1 1
- X — = —
3 4 12
6 3 2
— X — = —
9 5 5
4 5 5
— X - =
8 8 16

Paivamaara: Pisteet:
5 1 5
- X - = —
773 21
11X5_1o_11
36 9 9
2 6 1
— X - = —
8 9 6
2 5 25
12 x ===
379 27
1 1 7 1
27%376 1%
1 4 16 ]
1357157155
2 1 5 2
372273713
3 5 15
- X - = —
78 5
3 1 3
- X - = —
4" 4 16
3 3 1]
— X - = —
9 5 5
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